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A decree, perhaps he will revert to his corruption

Overview’

The X773 concludes that n"7n a 73 does not inherit his father, rather it is only 312977,
for they were concerned if the 72 would miss out on his inheritance (because he
converted), he may regret his conversion and revert to his old lifestyle. n901n
explains how this resolves the original question (when we assumed that nX w21 73
n"m 1a) that pw xp 1"y 0%5n.°
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And now that we say that 737 N1 is only 1312772, when the 73 exchanges the 1"V
for money it is not 1''y v9°%n, for the 2251 did not institute inheritance for the

73, unless it is something permissible, but if it is not permissible (like 1"¥) the 73 cannot
inherit it. Therefore the 1"V never belonged to the =3. The o°»5m can make this selective

inheritance -
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For they (the 0°72m) said the 73 inherits, and they said he inherits only permissible
items.

nvoIn asks:
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And if you will say; why should he revert y110% (it will not accomplish anything),

for as soon as he converted he is like a child who was just born -
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And if he will be 1718 2111, he will have the status of an apostate Jew, who still
cannot inherit his father the ".

Mo0IN answers:

' The entire Moo is bracketed. It is an addendum from 1w Moo,
* See ‘Overview’ to the previous "7 7"7 0.
? Even if the 7 is 112972 w1, the 1"V is still his (through 7w17°) so 2°pw &p 1"y *5°5n!
* However once it was W12 W2 it appears as if it already belongs to him, therefore he is not permitted to exchange
it, for it seems like 1"y *91%°1. 7"15%1.
> A 73 is not n"7n wav. The o0 granted him 7w out of concern that 1770% 2 X»w (since he lost his inheritance
due to his M°3). Presumably he will be 107 7nn for then he will receive the inheritance (since he is now a "?!), but
this is not so, for he always remains a Jew (granted a 2% 9Xw°), and he still will not have the right to inherit. He
will not gain anything by 1110% ">, why were the 031 concerned?! See ‘Thinking it over’ # 2.
% See “Thinking it over’ # 1.
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And one can say; that the 13 will mistakenly assume that by 1m0% nn, he will

have a portion in his father’s inheritance. Therefore in order to prevent this mistake,
the o°non instituted that the 23 also inherit his father. The above was from 2%2° 719017,

Summary
The 1127 allowed the 73 to inherit [only permissible items, not 7"V], because they

were concerned that they 73 may mistakenly assume that if he is 1110% 211, he will
be able to inherit his father (770 1°77).

Thinking it over
1. Why does o1 mention, "7 Touw Jopd I™anw 7n,” it would have been
sufficient to say that even if he is ¥M0% N, he is WM HRIW°3?

2. Mmoo asks why will he be 105 911, since he will nevertheless still not inherit;8
However he may be 1M0% 2111 out of frustration, or he will go to the gentile courts
and they will reward him his inheritance! What is noo1n question?!’

7 See footnote # 6.
8 See footnote # 5.
? See mb ¥y &Y W and Y ayan .
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